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Attempt any four questions. There is internal choice in questions 4, 5 and 6.
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1. Do you agree that unemployment is a structural feature of capitalist economies? Explain the
views of Marx and Kalecki on this.
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2. Explain the term “creative destruction”. Discuss how Schumpeter analysed the presence of
various “restrictive monopoly practices” and “price rigidities” as inevitable strategies to
counter such tendencies of creative destruction.
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3. Derive the equation on which the “law of the falling tendency of the rate of profit” is
established. Explain the working of this law and how it forms the basis for a necessity theory
of crisis in capitalism.
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4 (a) “It is not the consciousness of people that determines their existence, but their social
existence that determines their consciousness.” (Marx). Elucidate the statement.

OR

(b) Explain the concept abstract labour and the relevance of it in Marx’s analysis of
capitalism. Discuss why labour power is considered a commaodity in the capitalist system.
What are the essential differences between the commaodity labour power and any other
commaodity under capitalist production?
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5 (a) Discuss the nature of contemporary finance capital and compare it with finance capital that
Lenin conceptualised in his work on imperialism. What are the general consequences of the
current globalisation of finance capital and particularly what are the possible implications for
the third world countries?

OR

(b) “The fact that (perfect) competition is not compatible with modern, technologically
advanced production is by no means tantamount to the proposition that monopoly is a rational
framework for development of productive forces.” Elucidate the above statement of Paul
Baran. Does this mean that Baran preferred perfect competition to monopoly?
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6 (a) What is the significance of the right to private property for the functioning of the capitalist
system? Explain what Robert Heilbroner means by the “negative form of power” implicit in it
and its relevance. Is the right to private property akin to the usufruct rights? Explain.

OR

(b) Discuss the role of “primitive accumulation” and “accumulation by dispossession” in the
evolutionary and contemporary phases of capitalism.

(@) YoTard! ARl & SMdI & ol (ol FuRl & ISR &1 31 A5 57 WK W &
s AR "2Ifth & FPRIHS wU” | 34 SIAF-R BT RT3 & AR 3BT Ui
|ASY | 9T ol HuRy & IffeR JeaR! & JMfeR & F9H 2? |AsT |

AT

(@) dolare @ fAmraardl iR FHS =Rl # "3fed e’ IR "de@ell gRT |ad” &

AT IR ==l B |



